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Answer any five questions. Good luck!

OBE
Marks
CO |RB]
Define the terms: (i) Celestial sphere (ii) Hour angle (iii) Prime vertical (iv)Latitude (v) 10 23 |LLL2
| |Longitude.
2 [Briefly explain the rules to be followed in drawing the diagrams of a heavenly body in 10 23 dd2
altitude and azimuth system.
3 [Find the shortest distance between two places K and L given that the latitude of K and L are 10 25 Ll
12°00' N and 13°04' N respectively and their longitudes are 72°30" E and 80°12" E
respectively.
4 IThe declination of a star is 48°46' N and the upper transit is in the Zenith of the place. Find 10 2,3 L1
the altitude of the star at the lower transit.
5 Define aerial photogrammetry. Also describe the uses of the same. 10 23 |LLl2
6 IWith a neat sketch, derive the expression for the scale of a vertical photograph. 10 2.3 |L1L2
7.]A line AB 2000m long, lying at an elevation of 500m measures 8.65cm on a vertical 10
photograph whose focal length of the camera is 20cm. Determine the scale of the
photograph in an area the average elevation of which is 800m.
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